ALL IN A DAY’S WORK: Some more carbon costs in typical workplace-related consumption

	Item


	CO2e
	Total Impact


	Notes



	Cycling to work, powered by foods (per mile)
	Bananas: 65 g

Cereal & milk: 90 g

Bacon: 200 g

Cheeseburger: 260 g

Asparagus (air freight): 2.8 kg
	It all depends – see notes.
	Depends on food energy source and transport. The carbon cost of eating a cheeseburger + cycling is the same as two people driving an efficient car.  It’s been demonstrated for a long time now that meat production has a higher footprint than grain or veggies, for example – unless the latter are flown in. Skip the morning bacon before you hop on your bike!

	Bussing to work, per mile
	Minibus with 20 riders, per person: 15 g**

Typical city bus passenger: 150 g
	
	(**Mini bus used in La Paz, Bolivia, where a ride costs a few cents and buses run every five minutes.) Here, poor routes, long waits, high fares + large vehicles = low ridership = LOTS OF WASTE.

	Driving 1 mile (1.6 km)
	Well-maintained, low-emission car: 350 g

Average American car: 850 g
Large SUV, poorly maintained: 2.5 kg
	
	About ½ the footprint is caused by burning fuel. Some comes from extraction, refining, shipping & distributing the fuel. About 40% of a car’s footprint comes from its manufacture and maintenance. The embodied emissions are greater in larger, newer vehicles.

	A commute in gridlock
	For one round-trip, 8 km each way, in an average car: 22 kg
	Emissions are roughly tripled when people choose a congested route
	Not only do you burn more fuel, but you cause others to do the same, all of you wasting time in the process. Avoid lots of stops and starts. Slow down and drive at a steady pace. Give other drivers plenty of room and signal turns/merges.

	A 652 km flight
	Based on solo travel: 500 kg
	
	Air travel has a greater impact than bus, train, or an efficient car – but surprisingly, its footprint is actually smaller than that of a big 4-wheel drive (1100 kg for the same solo traveler). This doesn’t make air travel for frivolous purposes okay; it simply points out how very wasteful some vehicles are.

	Spending money, per dollar
	On a car: 480 g

On a flight: 3.1 kg

On budget flights: 10+ kg
	
	Reduce needless consumption, especially air travel. Fuel burned at high altitude has twice the impact of fuel used at ground level.  



Source: Mike Berners-Lee, How Bad Are Bananas? The Carbon Footprint of Everything (2011)


